BHARTIYA SHIKSHA BOARD
SAMPLE QUESTION PAPER 2025-26

CLASS - XII
COMPUTER SCIENCE (160)

Time allowed : 3 hours

Maximum marks : 70
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General Instructions:

AT e

e This question paper contains 37 questions.

=q W3l 99 A 37 9 gl

e All questions are compulsory. HOWEVer, internal.choi_ces have been provided
in some questions. Attempt only one of the choices in such questions.

aafr st SR & g, $6 weat ¥ AiaRe Reed vaw fHr v

Y yeat & & Pad vE BFEeT F & I |

o The paper is divided into 5 Sections- A, B, C, D and E.
dqT &1 5 @t fsnfora fwar o/ §- ©, &, @, 8 3R S

e Section A consists of 21 questions (1 to 21). Each question carries 1 Mark.
HHRT T H 21 WA (1§ 21) &I weA et 1 3% ¥ E

e Section B consists of 7 questions (22 to 28). Each question carries 2 Marks.

gz & F 7R (22 @ 28) ¥l UAH R 2 3 W g

« Section C consists of 3 questions (29 to 31). Each question carries 3 Marks.
T W H 3 TR (29 31) &l 9AF U 3 I # gl

e Section D consists of 4 questions (32 to 35). Each question carries 4 Marks.
HeJHTIT B A 4 WRed (32 & 35) &1 TAF WA 4 3(F F g

e Section E consists of 2 questions (36 to 37). Each question carries 3 Marks.
@g § & 29 (36 ¥ 37) &1 Wdw WeeT 5 3 H Gl

o All programming questions are to be answered using Python Language only.

el STERT WeeT F7 36T A UrFYe ST @ SIANT Feh fodr S g

Q No SECTION A (21 x 1 = 21 Marks) Marks
LT HET (21 x 1 = 21 3(®) ki
: Ay |
1. | Find the invalid identifier from the following: 1
(a) Last Name (b) tax (c) RollNo (d) string#l
PFRRT & O 3FTT FESRERK gt
(a) Last Name  (b) tax (c) RollNo (d) string#l
2. Evaluate the following expression and identify the correct answer. 1

print (25 // 4 + 3*¥*¥1**2 * 2)

(a) 24 (b) 18 (e) 6 (d) 12

RFATRT =ow & Hedided T AR TE R A TodeT
print (25 // 4 + 3**¥1x%2 * 2)
(a) 24 (b) 18 (c) 6 (d) 12




State whether the following statement is True or False:
“Python has a keyword that can be used to declare variables”

gae i Prefafla #3 98 § I 30
ey & U Hras ¥ Srger 39T IRTEd T e & e B S

qhell &

Given the following dictionaries.

dict student = {"Rno" : "24", "Name" : "RajeshT)
dict marks = {"Cs" : 99, "Maths" : 63}

Which statement will merge the contents of both dictionaries?
(a) dict student + dict_marks
(b) dictﬂstudent.add(dict;marks)
(c) dict student.update (dict_marks)
(d) dict student.merge (dict_marks)

rafaf@d g U @17 §

dict student = {"Rno®.: "24", "Name" i "Rajesh"}
dict marks = ("csS" : 99, "Maths" : 63}

Pl AT FUF At Asenrer i icTaeg P HAew game

(a) dict student + dict marks

(b) dict_student.add(dict_marks)
(c) dict_student.update(dict_marks)
(d) dict student.merge (dict_marks)

Select the correct output of the following python code:
Strl="Viksit Bharat 2047"

print(Stri.partition(“1™}))

(a) ('V', 'i', 'ksit Bharat 2047')
(b) (*viks?, *i%, 't Bharat 20471")
(c) (‘v', ' ', 'ksit Bharat 2047')

(d) (*Viks', 'i", 't Bharat 2047")

fAaf@a TS I3 & a0 F3CYE IA:
Strl="Viksit Bharat 2047"
print(strl.partition{"1i"))

(a) (*Vv'y “1', '"ksit Bharat 2047")
(b) (*Vika', *1Y, 't Bharat 2047"')
(c) (ryre, v v Visle Bharat 2047")




(@) ('Viks', 'i', 't Bharat 2047'")

Which SQL statement is used to add a new row to a table?
(a) INSERT INTO (b) ADD ROW

(c) UPDATE (d) APPEND

mmSQLwaﬁwﬁwaﬂrﬁﬁrmﬂﬁﬁvWﬁmm
ge

(a) INSERT INTO (b) ADD ROW

(c) UPDATE (d) APPEND

Select the correct output of the following python code:

a=10

b=3.4

def calc():
c=2
global a,b
a==Db
a*=3+cC
b+=a*2
b=b//2
return b

print (calc())

| (a)69.4 (b) 34.0 (c) Error (d) 34

Prff@a TaYs #5 F T ABTYE I

a=10

b=3.4

def calc():
c=2
global a,b
a—=0p
a*=3+cC
b+=a*2
b=b//2
return b

prine (cale() )

(a) 69.4 (b) 34.0 {c) Errox (d) 34

Study the following program and select the possible output(s) from the options
(a) to (d) following it.

import random
Signal = [ 'Apple', 'Banana',6 'Grapes' |
for K in range(2, 0, -1):

R = random.randrange (K)

print (Signal[R], end = '#')




(a) Rpple#Banana#Grapes# " (b) Banana#Applef
(c) Grapes#Banana# (d) Grapes#Apple#

ﬁmﬁ@ﬁmmmﬁmgﬁmﬁﬁqm#@)ﬁ#
ﬁmﬁamwmﬁl

import random
Signal = ['Apple', 'Banana', 'Grapes']
for K in range(2, 0, -1):

R = random.randrange (K)

SRS SISO
1

print (Signal[R], end = "#')
(a) Applef#Banana#Grapes# (b) Banana#Apple#
(c) Grapes#Banana# (d) GrapesfApplet
9 TWhich of the following commands will remove the entire database named
‘SCHOOL’ from MYSQL?
(a) DELETE DATABASE SCHOOL; (b) DROP DATABASE SCHOOL;
(c) REMOVE DATABASE SCHOOL; (d) ALTER DATABASE SCHOCL;
PIRTRT 3 @ ® G FAS MYSQL A Fher A HYOT ST 1 &
Gam?
(a) DELETE DATABASE SCHOOL: (b) DROP DATABASE SCHOOL;
(c) REMOVE DATABASE SCHOOL, (d) ALTER DATABASE SCHOOL;
sl 1 R e M el e .
10. | Write the output of the following code:
Strl='Meri Maati Mera Desh'
print(Strl[=6::-61)
Prrafaf@d i & mscye fow:
Strl="'Meri Maati Mera Desh'
print(Stel[-6:v=6])
11 | Select the correct output of the following Python code:

def fun():
CEy::
return 1
except:
return 2
finally:
return 3
k = fun()
print (k) .
(a) 1 (b) 2 . (¢) 3 (d) Error




PR Ty g F FE 3T Ta:
def funiy): *
try:
return 1
except:
return 2
finally:
return 3
k = fun()
print (k)

(a) 1 (b) 2 () S (d) Error

12. | In SQL, which operator is used to compare a value to a specified list of values?
(a) BETWEEN (b) IN (c) LIKE (d) EXISTS
soL ¥, fRl A A g AW A Afdse gl & v & fov e
3TET &1 394ET fHar S 82
(a) BETWEEN (b) IN (c) LIKE (d) EXISTS

13. | In SQL, which command is use to display the structure of table stored in a
database.
(a) DESCRIBE (b) DISPLAY (c) SELECT (d) ALTER
SQL &, Seew & Huda difersr $r AT #F TGN W & v
HHS A 39T fRar Smar g7
(a) DESCRIBE (b) DISPLAY (c) SELECT (d) ALTER

14. | Which keyword eliminates redundant data from a SQL query result?
el | Has SQL FEY YR | HeAraeder ST &l T el o7

15. | In SQL, which operator can take wild card characters for query condition?
(a) BETWEEN (b) LIKE (c) IN (d) NOT
sQL &, A &1 T FA FERE & AU aEes F18 el o Tohdl 8?2
(a) BETWEEN (b) LIKE (c) IN (d) NOT

16. | Which of the following SQL query will NOT give any error ?

(a) ALTER TABLE employee SET emp no INT(9);

(b) UPDATE TABLE employee MODIFY age = age + 10;
(c) DROP FROM TABLE employee;

(d) DELETE FROM employee;




T # @ T W sQL Al ;g Fe @

(a) ALTER TABLE employee SET emp no INT (5);

(p) UPDATE TABLE employee MODIFY age = age + 10;
(c) DROP FROM TABLE employee; '

(d) DELETE FROM employee; A a it - ReTh

77 Which of the following is a medium used for unguided transmission?
(a) Coaxial Cable (b) Twisted pair Cable
(c) Optical Fibre (d) Microwave
SrafafRg & & @t ar #Aregs ARER FEROT (unguided transmission) &
fare 3gater fmar siran fRar ST &2
(a) PITFET heel (b) efaweE 9
CEURSGEICE (d) FTgREE
18 | Which protocol is used for email services?
(a) FTP (b) HTTP (c) SMTP (d) PPP
éﬂﬂ@iﬁ'ﬁﬁﬂ?ﬁmaﬁﬂmuﬁﬁﬂmﬂmmﬁ?
(a) FTP (b) HTTP (c) SMTP (d) PPP
19 | Fill in the blank :
N switching, before a communication starts, a dedicated path is

identified between the sender and the receiver.

(a) Packet (b) Graph (c)Circuit (d) Plot
R = = W :

Rafdfer #, §9R 4 g & Tge, Y9 3R RAR & dra v
FARE gY@ ggae @ S el
(a) Yhe (b) ITH (c) afehe (d) THie

Q 20 and 21 are ASSERTION(A) AND REASONING(R) based questions. Mark the

correct choice as
(a) Both A and R are true and R is the correct explanation for A

(b) Both A and R are true and R is not the correct explanation for A
(c) A is True but R is False

(d) A is False but R is True

a7 20 30T 21 3wy () 3R aF (IR) 3menRa weaT §1 Wer TAeq A 54

¥ H RfgaT =
(a) T 3R IR it T & AR AR, U & 0 [ T &




(b) T 3T 3T AT TT & 31N 3T, T & U TEr TASEHIOT Al &
(C) T W § oftheT 3R 10 &
(d) T 3Tl § ofehed I AT §

20

21

Assertion (A): A function in Python can return multiple values.
Reason (R): Python functions return values as a tuple when multiple values

are returned.
Assertion (A): Python # U Rl UHRITOS HeT @leT Tl gl

Reason (R): 519 Uanlfte #AT WlCiT ST & o Iaye SR Al @l guel
% ¥ # wlear g

Assertion (A): The GROUP BY clause in SQL is used to group rows that
have the same values in specified columns.
Reason (R): The GROUP BY clause can be used without aggregate functions

like COUNT(), SUM(), or AVG().

Assertion (A): SQL # GROUP BY &dllsT &l 3UANT 3ol hicled & A HA
arell YfeFedl (rows) F1 AR = & AT fFar S g
Reason (R): GROUP BY &dllsT &I f&=T el vafldie warid 3 COUNTY(),
SUM(), ar AVG() & 393197 TohaT ST dhaT Bl

SECTION B (7 x 2=14 Marks)
@3 & (7 x 2=14 3i%F)

529,

(a) (i) Expand the following terms:
VolIP, URL

(i) Pe=faf@e a=at #1 RJfvar +:it:
VolP, URL
(11) Give two examples of PAN and LAN type of networks.

(ii) PAN 3IR LAN 9T & sicaeh & & 3CTEIT aIforv]

OR
(a) (i) Differentiate between ftp and http.

(i) ftp 3T http & &IT 3@ 4.
(i) Name any two common web browsers.

(ii) fohegl T WHT a9 FIFSRT & AT JJE0]

£3;

Rewrite the following code in python after removing all syntax error(s).
Underline each correction done in the code.
50=Num
for x i1n range (0, Num)
1f x%2=0:
print (x*4)
Flself x%3==0:
print (x+5)

N

7



else:
print (x+10)

mmﬁ@ﬁbﬁmtmwﬁmmﬁﬁﬂ#
| F1s # frT v S GUR @ (@ifed w1

50=Num
for x in range (0, Num)
if x%2=0:
print (%x*q)
Elseif x%3==0:
print (x+5)
else:
print (x+10)

24.

Ms. Akansha is given a task to create a database, Hospital. She has to create a
table, Doctor in the database with the following columns:

Doctor 1d = Int

Doctor name - varchar (20)

Doctor Specialization - varchar (10)

Help her by writing SQL queries for both tasks.

gﬁmnﬂwm,mmﬁmﬁmwﬁlﬂm#
RTRT Fie#AT & AT T dlferenl, SIFeX SelT aion:

Doctor id = int
Doctor name - varchar (20)
Doctor Specialization - varchar (10)

2t st & v son @Y PEsy 39dT dgdar &l

25

(a) Write definition of a Method Count(CITIES) to find and display those city
names, in which there are more than 5 characters.

For example:

If the list CITIES contains
["DELHI", "MUMBAI", "PARIS", "NEW YORK", "DUBAI"]

The following should get displayed
MUMBAI
NEW YORK

3T UEA & AT B eter IR wSRT F= F T AYs F3¢ (CITIES) S
gfemr B, B 5 & 310w R § |
3Gl & [oIC:

gf {EY CITIES 7 WA

["DELHI", "MUMBAI", "PARIS", "NEW YORK", "DUBAI"]

frfaf@d yeRkia glar aifRe

MUMBAIL
NEW YORK

1+1=2




OR

(b) Write definition of a method/function EndingA(Names) to s_earch_an:':l |
display those strings from the list of Names, which are ending with A.

For example:
If the list Names contain ["JAYA", "KAREEM " wpARUNA", "LOVISH"]

The method/function should display
JAYA
TARUNA

EndingA(Names) a7 U fafRi/dherere et qfeST ford, S AT 'F[iﬂ‘ H A
mﬁmﬁ@ﬁsﬂzuﬁaaﬂ,mwwmﬁﬁr%l

39T & foIT:
ﬂﬁqﬂTNamesﬁHﬂTQﬂﬁﬂg

[II JAYA" . n KAREEM" " L] TARUNB" ; n LOVI SH" ]

fafywera @ YeiRia & difgv
JAYA
TARUNA S i, LSt R B et
76 | Explain the use of a default parameter in a Python function with the help of a
suitable example.
wmw@rm#w%mﬁ%ﬁﬁma%m
1 THSTY |
27. | Write the Python statement for each of the following tasks using BUILT-IN
functions/methods only :
(a) To add list of elements L2=[40,50] at the end of already existing List
L1=[10,20,30]
(b) To check whether a string named, message ends with a full stop/ period
or not.
derer BUILT-IN sereie/faferdl sr 3T T Rfaad Y% &9 & o
YU FeCHT o
(a) wBe ¥ Fleg FEY L1=[10,20,30] & 3T # Fear T T L2=[40,50] g
¥ foe
(b) =g sr=rt ¥ e B = message ATHw 8T goifdaud () UT AT
gich & 9T 7
28 | (a) Categorize the following commands as DDL or DML:

INSERT, DELETE, CREATE, DROP

(a) PrAfaf@a @#Ts @ DDL a1 DML F &9 # adffeper 1

INSERT, DELETE, CREATE, DROP
OR




(b) Observe the following table carefully and write the names of the most
appropriate columns, which can be considered as
(i) candidate keys (ii) primary key

P_Id | Product Qty | Price | Tran_Date
101 | Keyboard 4 12396 |2024-05-12
103 |UPS™™ 2 | 7000 |2024-06-11
105 | LED Monitor 2 18000 | 2024-07-10
106 | Mouse o 4 1596 | 2024-05-12
109 | H61 Motherboard [ 6 | 18000 | 2024-07-14
111 | SSD Hard Drive 2 | 8000 |2024-06-12 |

(b) PFATaf@a arfernr @ eareT & & HR G 39T Piored o AH
fad, foreg (i) Hfzde & (i) A & AT ST FhaT &

P Id | Product Qty | Price | Tran_Date
101 | Keyboard |4 12396 | 2024-09-12
103 | UPS yi 7000 | 2024-06-11
| 105 | LED Monitor 2 | 18000 | 2024-07-10
106 | Mouse 1596 2024-05-12

o A

109 H61 Motherboard | 18000 | 2024-07-14
111 SSD Hard Drive 2 |8000 2024-06-12

SECTION C ( 3 x 3 = 9 Marks)
@5 Y (3 x 3=9 37F)

29

(a) Write a method/function SHORTWORDS () in python to read lines from a
text file WORDBANK. TXT, and display those words, which are lesser than
5 characters.

For example:

If the content of the file is
HAPPY JOY WELCOME KITE

LOVELY POSITIVE FUN

The method/function should display
JOY

KITE

F'UN

(@) Python & T fRf&/FeeT sHORTWORDS () foI®, S WORDBANK . TXT CHEC
HIEd O UTFadl 98 3R 37 UsST &l YeRiad &Y, Sif 5 3R q 7 g

3GI6X°T & oI
Ife wIse & GreT &

HAPPY JOY WELCOME KITE
LOVELY POSITIVE FUN

10
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JOY
KITE

FUN

OR | _
(b) Write a function/method in python to read lines from a text file
INDIA.TXT, to find and display the occurrence of the word “India”.

For example:

If the content of the file is _
India is one of the fastest-growilng economies, attracting

investments from across the globe. The world views India as
| a promising market, and many Indians can envision the
remarkable potential the country holds for the future.

The output should be 2

(b)Python ¥ T Wherre/fafr ford ST INDIA. TXT e By ¥ dfFadr 9¢
R "India" e # 3URYM HT oI TGRIT

Wﬁﬁl’l’:.
afe wied & | &

India is one of the fastest-growing economies, attracting
investments from across the globe. The world views India as
a promising market, and many Indians can envision the
remarkable potential the country holds for the future.

HI3ee 2 §ie AT

(a) A dictionary, d_capital contains the records in the following form at :
{country:capital}
Define the following functions with the given specifications:
(i) push capital (d_capital): It takes the dictionary as an argument
and pushes all the capitals in the stack CAPITAL whose Country are of

more than 4 characters.
(ii) pop capital () : This function pops the capitals and displays "Stack
empty" when there are no more capitals in the stack.

(a) T QUSRI (BFe)) d capital 7 RFE Ari@d IHT # gid &

{country:capital}

R sv R & gy PfRf@d weEr @ aRenia #i{
(1) puah_capital(d_capital): qg TR & Th doh (argument) ET
T & Aar § 3R 39 W@ oGl Y TH CAPITAL # SISl o,
o 3 ¥ A 4 ¥ 30 3 F @
(ii) pop capital() :9g% el JSTUTT S 91T el § IR I« TF A
A A Tk & A §, O wF @ vElilia i g

OR

11



(b) A list contains following record of teacher: [Teacher name, Subject]

Write the following user defined functions to perform given operations on
the stack named 'School' :

() Push Teac(TList): To Push teachers’ names of those teachers who are
teaching ‘Chemistry’ Subject.

(11) Pop Teac () : To Pop the names of teachers from the stack and
display them. Also, display “Underflow” when there are no
teachers in the stack.

For example :

If the lists TList with teacher details are as follows:
[[“KRavita, "Chemistry"]

["Anamika"™, "Physics"]

["Aradhana", "Biology"]

["Sunaina", "Chemistry"]]

The stack should contain:

[Kavita, Sunaina]

The output should be:
Sunaina

Kavita
Underflow

(b) v = 7 Rt & SFfafaa Reeg anfae §

[Teacher name, Subject]

'School' dilF® e W U 7T #rf #r = & v ARf@d suaeEa-
qRTNea(user defined) WereleT oL |

(i) Push_Teac (TList):3¢7 RI&Tl & ATH & & g & QT 3 T
faremer fawa wer @ €

(i) Pop_Teac():¥& & Rl & A7 Waos IR TERia == F @A)
ST T H ws Rerw 7 &, ar "3iswerr veftia &)

3TVl & felu:
afe; e faavor afgd Trist @ UHR &

[["Kavita", "Chemistry”],
["Anamika", "Physics"],
["Aradhana", "Biology"],
["Sunaina", "Chemistry"]]

¥ H gier 9ifeu:

[Kavita, Sunaina]

H3eye glar =@Ifgu:
Sunaina
Kavita

Underflow

31

(a) Find and write the output of the following python code: _

12



def Changer (M,N=10):
M=M/N
N=M%N
print (M, "#",N)
return M

X=200

Y=20
X=Changer (X, Y)
print (X, "s™; YY)
Y=Changer (Y)
Drint (X "5", X)
X=Changer (X)
print (X, "s",Y)

(a) FFITAR&T Python ®IT & IMFeqe §¢ IR fow:

4

def Changer (M,N=10) :
M=M/N
N=M%N
print (M, "#",N)
return M

X=200

Y=20
X=Changer (X, Y)
print (X, "s"Y,Y)
Y=Changer (Y)
print (X, "s",Y)
X=Changer (X)
print(X,"s",Y)

OR

(b) What will be the output of following-Python code:
matrix = [[1, 2, 3], [4, 5, 6], [7, 8, O]]
result = []
for row in matrix:
temp = |[]
for num 1n row:
if num % 2 == 0:
temp.append (num * 2)
else:
temp.append (num - 1)
result.append (temp)
print (result)

(b) TAFATATNET Python IS T HI3TYE FAT EIM:

13




matrix = [[1, 2, 3], [4, 2 6] p il 8y =3

result [ ]
for row in matrix:
temp = []

for num 1n row:
if num % 2 ==
temp.append (num * 2)
else:
temp.append (num -~ 1)
result.append (temp)
print (result)

Section-D ( 4 x 4 = 16 Marks)
@z 3 (4 x 4=16 )

- — e

32

Consider the following table named Students:

Studentld | Name Age | Gender | Marks | Subject City
fed Rohan 18 | Male 85 | Physics Delhi
L Priya 19 | Female [ 90 |Chemistry | Mumbai
3 Sohan 17 |Male | 75 |[Mathematics | Bangalore |
4 Riya 18 | Female | 92 | Physics | Kolkata
5 Amit 20 (Male | 65 |[Chemistry |Delhi |
6 Sara 19 | Female | 89 [ Mathematics | Mumbai

(a) Write the following SQL queries:
(i) To display the names of students who scored more than 80 marks in
the subject of Physics.
(ii) To Add the constraint, primary key to column Studentld in the

existing table Students.
(iii) To change the city to Chennai of the Student whose id is 3.

(iv) To display record of all students whose name starts with 'S’ and marks scored
greater than 80.

Arfaf@d dafessr W faarR & [Sder &6 819 8

Studentid | Name Age | Gender | Marks | Subject City
1 Rohan 18 | Male 85 | Physics Delhi
-2 Priya 19 |Female| 90 |Chemistry | Mumbai
3 Sohan | 17 | Male 75 | Mathematics | Bangalore
4 Riya 18 | Female| 92 | Physics Kolkata
5 Amit 20 | Male 65 | Chemistry | Delhi
6 Sara 19 [Female | 89 |Mathematics | Mumbai

(a) =@ SQL ue= ford:
(i) 3T o1 & A YeRia F{ Seger Aifadr fawa 7 80 & 31« 3w
gred f&T g
(i) FHiser aferT Students 7 Hier Studentld WX I ATAF F3ir (Primary Key)
gfaey Siisa & fere)

14




(iii) T3rT ©T% @ HES 3 ¥ WA AGT TEorad dowiy |
(iv) 37 Tl st 1 s velia &t S am 'S & gF gar ¢ 3R Sl 80
¥ 30 3w e @He gl

OR

(b) Write the output of the following SQL queries based on above table:
(i) SELECT Name, Age FROM Students WHERE City IN
('Delhi', 'Mumbai') AND Marks > 70;
(ii) SELECT Name, Marks FROM Students ORDER BY Marks
DESC; .
(iil) SELECT Subject, COUNT(*) AS Total_ Students FROM
Students GROUP BY Subject;

(iv) SELECT DISTINCT CITY FROM Students;

(b) 39 arferer & 3MUR W Reafai@d SQL =&t & 3m3eqe @d|:
(i) SELECT Name, Age FROM Students WHERE City IN
('Delhi', '"Mumbai') AND Marks > 70;
(ii) SELECT Name, Marks FROM Students ORDER BY Marks
DESC;

(iii) SELECT Subject, COUNT(*) AS Total Students FROM
Students GROUP BY Subject;

(iv) SELECT DISTINCT CITY FROM Students;

33.

Mohan is a Python programmer employed at a school. For the annual inter
school Information Technology(IT) Event-Techesta, he created a CSV file called
Tech.csy to record the results of students in various IT events.

Records stored in Tech.csy are in the following format:

[Eve_Name, Stu_Name, Sch_Name,Result]

Where

Eve_Name: Name of the event in which student is participating(string)
Stu_Name: Name of student(string)

Sch_Name: Name of the School of Participating student(string)

Result: Result of the event whose value can be ‘Winner’, ‘Runners-up’ and
‘Participated’

To efficiently manage the event data, Mohan plans to write the following user-

defined functions:
Enter(): To input a record from the user and add it to file Tech.csv.

Winner_Count():To count the number of Students who have won the event.
As a Python expert, help him to complete the task.

15
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ﬂiﬁ&ﬁwﬁmmmalmﬁﬁ@rwwm
(3TEEN) SdT-EHeT(Techesta) & AT, 3egieT famde= IMEEY FRHAT A OEN F
Wﬁﬁﬂﬁémﬁ%ﬁamch.wvmﬁmwml
Tech.csv#ﬁﬁﬁﬁéﬁﬁﬁﬁﬂmﬁg:

[Eve_Name, Stu_Name, Sch_Name,Result]

g *

Eve Name: 38 ®RiHH &1 A foresl o #4097 & @ ¢ ()

stu_Name: &1 @1 a1 (FEe)

Sch_Name: HIeT o aTl O & el o A ()

Result: 3matsE @1 IROTE, Foradr ART(Values) ‘Rsiar, ufdsiar R H@

forar & |ehdll & |

m%%aﬁ?mﬁ@ﬁﬂﬁﬁmﬂ?m,mﬁm

sy TEa-IRENG heee foEs it A S W/ §:

Enter():39dlar@ar & Th RIS FTqC T 37 Tech.csv PIgel & e &

foel

Winner Count():3« BTat #r F&ar s & v egie FR%A 3 Sid
gifae @ g | .

UF TUd Rws & §7 #, 38 FE QW WA A AGG Al
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Consider the tables Employee and Department given below:

) Table: Employee
Emp_ld | Emp_Name | Hiredate Salary | emailld Dept_Id_
Hardeep Kaur| 2020-07-01 | 100000 | hkaur@gmail.com
Asha Sharma | 2021-01-10 | 90000 | asharma@yahoo.com
Neetu Gulati | 2019-08-05 | 110000 | NULL
Alok Pandey | 2018-09-09 | 85000 | apandey@gmail.com

DlIWIN|—
L) = [N | =

Table: Department

Dept_Id | Dept_Name | Location
1 | Sales Delhi
(. rl Marketing | Mumbai
3 Sl Chennai_|

Write SQL queries for the following:
(a) Display a list of employees along with their department names and locations.

(b)  Display Emp_id and Emp_Name of those employees whose email_id is not known.
(c) Display the average salary of employees in each department.
(d) (i) Delete the record of employees who hired before July 2020.

OR

(ii) To display Cartesian Product of above two tables.
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A & 1S arferser weEr AR [T | fER
Table: Employee

Emp_Ild | Emp_Name | Hiredate Salary | emailld Dept_Id
1 Hardeep Kaur| 2020-07-01 | 100000 | hkaur@gmail.com 1
2 Asha Sharma | 2021-01-10 | 90000 | asharma@yahoo.com | 2
3 Neetu Gulati | 2019-08-05 | 110000 | NULL 1
4 | Alok Pandey | 2018-09-09 | 85000 | apandey@gmail.com | 3
Table: Department
Dept_Id | Dept_Name [Location |
1 Sales Delhi
2 Marketing | Mumbai
3 IT Chennai
@ & A sQL Flr o

(a) FAARAT Fr 3 T F a9 IR =T F WY o6 G we5Ria F

(b) 3+ FHARAT T Emp_id 3R Emp_Name TERIT X [SeThr SAW_3ME3r AT gl
gl

(c) T+ RsmeT & =Rt Fr taa 3o weitia =

(d) (i) S 2020 & gl A 9T (W Tl FANRAT F1 RFIS ger g

OR

(ii) 3UFd & arferep3il & HIERITA 3cUIG @l YERid &l & [0}
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Kabir wants to write a code in Python to display all the details of the items
whose price is more than 1000 from the table item in MySQL database, Market.
The table contains the following attributes:

Ino(ltem Number):Integer

Iname(ltem Name):String

Price: Float

DOE(Expiry Date of Item):Date

Consider the following to establish connectivity between Python and MySQL

eUsername :root

ePassword :bazar

eHost :localhost
Help Kabir to write the program in Python.

wﬁwﬁwmmmﬁmmﬁwmm
AgdT & forstehr A MySQL 3e1ed, Arhe & drfere 3mgew & 1000 { 310+

gl
coe H fArfaf@a aor QARgge) &

Ino(ltem Number):Integer
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Iname(ltem Name):String
Price: Float
DOE(Expiry Date of Iltem):Date

PythonaﬁTMySQLﬂ?mﬁﬁ‘EﬁﬂwrﬁHmﬂ?ﬁﬂmﬂﬁﬂﬂ |
ot

elUsername :root

ePassword :bazar
eHost :localhost

FAT F gAYT # NTH @ #§ A W

Section-E_(Z X 5 = 10 Marks)
@5 § (2 x 5=10 31F)
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A library stores its book records in a binary file book.dat containing information
in the following structure [book ID, title, author, subject].

The librarian needs a system that provides the following functionalities:
Add () : The function to input the data of a book and append it in a binary file.

Search () :Function to count and display the books whose subject is
Pt ction®.

EFEC BIgd # Use() 3N UScasad() WaRe & §F Ao W
T QAR 39 G & RS A v a1gey wigel book.dat H HAGHT
=l ¢, S Aafaf@a @@ $r S gidr & [book ID, title,

author, subject].

AEARTT Fr U AT GOl A aRTEwar § S Refaf@d HREHAT e

Cg

Add() : TRl Q6% & 3eT 1 §1ge L I 3/ agAd B H ST w
el |

Search(): 3 Qe @I FIAa 3N FeRId HlA &1 H forever fawa "Tperere

¢

Gyan Vidya Peeth is a Delhi based educational NGO which is expanding its office
set up to jaipur. At Jaipur office campus they are planning to have four blocks.
Each block has a number of computers, which are required to be connected to a

network for communication, data and resource sharing.
D—"_L-_'

As a network expert, you need to suggest the best network-related solutions for
them to resolve the issues/problems mentioned in points (a) to (e), keeping in

Jaipur Campus

mind the distances between various blocks and other given parameters.
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Distance between various blocks:

Distance ( In @__e_*_t_e_rs_l__ 5 _:
Block A to Block B 80
Block A to Block C 63
Block A to Block D 20
Block B to Block C 45 =
Block B to Block D 120
Block C to Block D 60

Expected number of computers in each block is as follows:

| Blocks | No. of Computers
Block A 90
BlockB i
Block C 150 A
Block D 75 e i

(a) Which block in Jaipur campus should host the server? Justify your answer.

(b) Which hardware device will you suggest to connect all the computers within
each block?

(c) Draw an ideal cable layout (Block to Block) for connecting these blocks in
Jaipur campus.

(d) NGO is planning to connect its Delhi Head Office with Jaipur campus. Which
out of the following wired communication, will you suggest for a very high-
speed connectivity?

(i) Twisted Pair cable
(ii) Ethernet cable
(ii1) Optical Fiber

(e) Which kind of network will it be between Delhi office and Jaipur campus ?

sier R B Reedlr Rva v Al IR ARy Wew § S S s
raferd @l fAFaR X W@ &1 S9N Fed 9RER & 9 9) sl a9 H
AT &1 @ &1 Yedd soilh # s HOYEX 81 o, foee A9, 3T AR Fane
HISAT T & (AT dcad o SIST ST 3RS gl o
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UF Jead AT & &9 F, 39T e sdient 3K 379 QU 310 AEsT &
aﬁﬂﬁr{ﬁﬂﬁmﬂﬁm?,ﬁ%(m#(e)ﬁm@mﬁaﬁ
gl T & fAv 3579 o0 Halad Acash-Hafad WA A $HT TaRgencl

q

Eﬁﬂﬁﬁ*ﬁﬂ@: F
o (e ) -

seileh A | sellen B 80 k

solieh A ¥ selian C 65

salich A q scllen D 90

cileh B ¥ &alieh C 45

sclleh B A salieh D 120

seileh C § &eiler D 60

Tl Selh A HREA AT FEAT $H TR ¢

Blocks FTeIT A TEAT
=AfE A | 00w -~
=it B 25 B
selieh C 150
seife D e 75 |

(a) ST IRTT H e ol HI FaT gIFe AT TIRRT? 9= 3R & 3R

ey &1

(b) YA selleh & Fel hegedl I Slis & fAU AT &leT |1 FTEATT IuSIOT
YHATTEI?

() STAYY URET H o7 sellenl I ST & foIU Teh G2 Fael AHBC (sciieh ¢
Scileh) SeATU]

(d) TASIST 39T el HTATGT @l SAYT YRET & SIssr Fr A= T T
¢l fwifef@a # & fhe 9oR & a8 §aR @1 39 Tga 3o Al @
Fafgeiact & fow geime &

(i) TRES =W
(ii) SUTT heel
(iii) 3fTCEher BIgaT
(e) mmmwmﬁmwmmmwm
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